%2

iad IR 2 A SR P AE 3] TP #HiTH > 7 &I %

B
Eri
=

-
=
&

Q

\um

&y

Ty

)

W
pas
(=
A}
{4
el

4

f
=N

%
4

112.7.1-7.31 N R 60, 000

- ~ Bl AR R R e B
g
SR ERERL DELZE BAE

' e, R - REIYN
FRP s FERAE112.7.1-8.31 20k 2,000
bk EFER Y £
WAL
SRR AIRES -3 EIE SR
CERELE § AR ELEHA
Z ~ 7 SN S E B 4
R h @%Z#%K R f R4 112.7.1-8.31 e 5,000
ZopHCEAEHRERSR SR
a £
i 1122 TR EEF " E-F 5% % - N
¥RP gmae ' R4 (112.7.30-8.31 FrE Ak 2,000
BA P

1. A% Rik3p 8 2 %62u+\1%§a R A R YRR R 2 ¥ RLELAFER -
2. HirH g b ML o T E 2 P mERKEE = o




